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����������������������������� !"#$%#�&'��(�)*�&�+'�(�,��&')��-.������(�/�),��+��(*�����
α0x(t) = δ(t)

β0x(t) = e−αtu(t), α > 0

γ0x(t) = e−α|t|, α > 01
δ0x(t) =

{
1 | t |< T1

0 | t |> T123456
α0x(t) = δ(t)7(��������.'��8��'�9����+��������������9 !"#$%#:��+�����

X(jω) =

∫ ∞

−∞
δ(t)e−jωtdt = e0 = 1 ;<=<0��+�����'��������8���+�'�����8�+'���/:(�+'���-�����'> ��8�+'*(����8δ(t)=

β0x(t) = e−αtu(t), α > 0?����'�(������+> :��+�����
X(jω) =

∫ ∞

−∞
e−αtu(t)e−jωtdt

=

∫ ∞

0
e−(α+jω)tdt

= − 1

α + jω
e−(α+jω)t

∣
∣
∣
∣

∞

0

=
1

α + jω
, α > 0@/���'�> ��'������-�),�+'*(����1���'���'��(���,��+��1�(:���'���(���,��+�����:�(�)����/*����+1�������-�'�'��������8��:���8

|X(jω)| = 1√
α2 + ω2

, ∠X(jω) = −tan−1(
ω

α
)A��(�/�):8��(���*���8��+�:�(�+)����8/*��8/��'�'�����������'���,����<



ω
α−α

1/α

|X(jω)|

ωα
−α

π/4

−π/4

−π/2

π/2

〈 X(jω)

γ0x(t) = e−α|t|, α > 0B�+��9�'��8����'�-���(���1:��+��
X(jω) =

∫ ∞

−∞
e−α|t|e−jωtdt

=

∫ 0

−∞
eαte−jωtdt +

∫ ∞

0
e−αte−jωtdt

=
1

α− jω
+

1

α + jω

=
2α

α2 + ω2
, α > 0C��'��(���&���+�,��+'*(������+> ��'���(������),=D�(�/�),��8��(*�������E����+�,��8x(t)

-�'�'�����������'���,����

t

1

x(t)

F



ω

X(jω)

2/α

1/α

α−α

δ0x(t) =

{
1 | t |< T1

0 | t |> T17(��������.'��8)���*����'�9����+> :��+��
X(jω) =

∫ ∞

−∞
x(t)e−jωtdt

=

∫ T1

2

−
T1

2

e−jωtdt

= − 1

−jω
e−jωt

∣
∣
∣
∣

T1

2

−
T1

2

=
2

ω
sin(

ωT1

2
)���������(��'��(�/��)��&8�G,8

X(jω) = T1
sin ωT1

2
ωT1

2

= T1sinc(
ωT1

2
) ;<=F0���+

sinc(x) =
sin(x)

x
. ;<=H0D

sinc(x)��'���'&��,)��&8�+'*(����-���������I��8=D�(�/�),��(*�������+> /��'������������'���,��

ωω

2T1

π/T1−π/T1

X(jω)

J�(���(�9�������+'*(������+�(�:)+I�1��('*����(��-�)*�����K1�'*π/T1
)����9I�8�&'-�+��(�9�'�&'��L.'���'����+���&��)*�����-:'=M�'�)*1��+'*(����sinc(x)H



��'���-�����(�8�������8)�����+'�'��9�����9�+�'*����.(���8���G�(�����8���*�&')���&'������)��'&'�.'=
��NO�����������'�������������� !"#$%#�&'�)���+P&'���*�&'

α0x(t) = [e−αtcos(ω0t)]u(t)

β0x(t) = e−3|t|sin2t

γ0x(t) =

{
1 + cos(πt) , | t |≤ 1

0 , | t |> 1

δ0x(t) =
∞∑

n=−∞

e−|t−2n|

23456
α0x(t) = [e−αtcos(ω0t)]u(t)@/���'�> ��8�+'*(����8e−αtu(t)��'���1α+jω1�(��������.'��8��'�-��������8-����(/&��8���(�9��'�+��������+����'> ��8x(t)�����

F{[e−αt cos(ω0t)]u(t)} = F{[e−αtu(t)] cos(ω0t)}

=
1

2
[

1

α + j(ω − ω0)
+

1

α + j(ω + ω0)
]

=
α + jω

α2 + ω2
0 − ω2 + 2jαω

β0x(t) = e−3|t|sin2tQ*'�'��8�(,����+E:+��+8
e−α|t| F←→

2α

α2 + ω2)����+�9��+
sin(2t) =

e2jt − e−2jt

2j)�P.8)����8�-������8��8����������8����+�'�����:��+�����
e−3|t| sin(2t) =

1

2j
e2jte−3|t| − 1

2j
e−2jte−3|t|

)�����������������8 !"#$%#��8�+'*(����8x(t)
P���'��

X(jω) =
1

2j

6

9 + (ω − 2)2
− 1

2j

6

9 + (ω + 2)2

= −j
24ω

ω4 + 10ω2 + 169

γ0x(t) =

{
1 + cosπt | t |≤ 1

0 | t |> 1 R



Q*'�'��8�(,����+�(����9> :��+��
X(jω) =

∫ 1

−1
(1 + cos(πt))e−jωtdt

=

∫ 1

−1
(1 +

1

2
ejπt +

1

2
e−jπt)e−jωtdt

=

∫ 1

−1
e−jωtdt +

∫ 1

−1
ej(π−ω)tdt +

∫ 1

−1
e−j(π+ω)tdt

= 2
sin(ω)

ω
+

sin(ω)

π − ω
− sin(ω)

π + ω

= 2 sin(ω)
π2

(π2 − ω2)ω

δ0x(t) =
∞∑

n=−∞

e−|t−2n|

A���&81���('�'��8��> :��+��
X(jω) =

∞∑

n=−∞

F{e−|t−2n|}

=
∞∑

n=−∞

e−2jωnF{e−|t|}

=
∞∑

n=−∞

e−2jωn 2

1 + ω2

=
2

1 + ω2

[
1 + 2

∞∑

n=1

cos(2nω)
]

��S?'�> ��'���+��8��+-�'������)*P���(���&��1������'����+'*(����x(t)

;α0X(jω) =
2

jω

;β0X(jω) =
1

(1 + jω)n
=;���-��G�TD�+'*(����X(jω)��'���'*��������'(n−1)��(*�&����81

1+jω023456
;α0X(jω) =

2

jωC9�/&'�����'�(������+�'����(�/�+> :��+��
x(t) =

1

2π

∫ ∞

−∞

2

jω
ejωtdω

=
1

π

∫ ∞

−∞

cos(ωt)

jω
dω +

1

π

∫ ∞

−∞

sin(ωt)

ω
dω)��/�9���(.�����)�,(&����'����-:'1�(�)9�������

x(t) =

∫ ∞

−∞

sin(ωt)

ω
dω = sgn(t)U



���+
sgn(t) =

{
1 , t > 0
−1 , t < 0

;β0X(jω) =
1

(1 + jω)n7(���������9����E�9��8
e−tu(t) F←→

1

1 + jω)����'�-��������8��(��.����81�9�/&'�����'�����1�'�> ��8x(t)��'���X(jω)1����P����9�+'����(�)*�&��:���8
tx(t) F←→ j

dX(jω)

dω

tn−1x(t) F←→ jn−1 dn−1X(jω)

dωn−1

V@��'��8���X(jω) = (1 + jω)−1)����(��&��E�'��8n− 1/�(:81���('�+�����
dX(jω)

dω
= (−1)j(1 + jω)−2

dX2(jω)

dω2
= (−1)(−2)j2(1 + jω)−3

===
dXn−1(jω)

dωn−1
= jn−1(n− 1)!(1 + jω)−n

@���:'&81�(��������.'��8��'�-������:��+�����
tn−1e−tu(t) F←→

(n− 1)!

(1 + jω)n
⇒

tn−1e−tu(t)

(n− 1)!
F←→

1

(1 + jω)n

�������+'*(������+E���9����'���x(t) =
tn−1e−tu(t)

(n− 1)!��WV@��&��+'*(����r(t) =
∫ ∞
−∞ x(τ)y(t + τ)dτ;-�'��'���+':��G�0=;α0@)/(*�����'�������������� !"#$%#R(jω)��8r(t)��L*����+��������������98X(jω), Y (jω)1�&'x(t), y(t)�'��������=;β0���P:������x(t) = y(t) = e−|t|=?/�9+���������������)�,(&��)����'r(t)1�(�����X���,���> ���'�+������������'R(jω)=;γ0Y�&8)�����;L01+�����������'R(jω)�(��������.'��8��'��:����+;�0�����-����8�+�'�����8=23456 Z



;α0�������E�'��8��'> ��8r(t):��+��
R(jω) =

∫ ∞

−∞
r(t)e−jωtdt

=

∫ ∞

−∞

[
∫ ∞

−∞
x(τ)y(t + τ)dτ

]
e−jωtdt

=

∫ ∞

−∞
x(τ)

[
∫ ∞

−∞
y(t + τ)e−jωtdt

]
dτ

=

∫ ∞

−∞
x(τ)Y (jω)ejωτdτ

= X(−jω)Y (jω)

;β0?'��)�P���.'��8��8�+'�(�,���8x(t), y(t)
:��+��

r(t) =

∫ ∞

−∞
x(τ)y(t + τ)dτ

=

∫ ∞

−∞
e−|τ |e−|t+τ |dτ?'t > 0������+'*(����r(t)��'����

r(t) =

∫ −t

−∞
eτet+τdτ +

∫ 0

−t
eτe−t−τdτ +

∫ ∞

0
e−τe−t−τdτ

= (1 + t)e−tM��t < 0
P�:��+��

r(t) =

∫ 0

−∞
eτet+τdτ +

∫ −t

0
e−τet+τdτ +

∫ ∞

−t
e−τe−t−τdτ

= (1− t)et[(����)*P���(���&��1���(�9��'��(*I�+����'�+'*(����r(t)&8�G,8
r(t) = (1 + |t|)e−|t|J��('&'��8�.(���'> ��8�+'*(����8��+�(�:)+I�1P�:��+��

R(jω) =

∫ ∞

−∞
r(t)e−jωtdt

=

∫ 0

−∞
(1− t)ete−jωtdt +

∫ ∞

0
(1 + t)e−te−jωtdt

=
1

1 + jω
+

1

(1 + jω)2
+

1

1− jω
+

1

(1− jω)2

=
4

(1 + ω2)2

;γ0VA�&8:��+��+������������'�(&��*�)���1�> �&'�+'�(�,��&'x(t), y(t)
P�-�'�����������:��

X(jω) = Y (jω) =
2

1 + ω2\



C9�/&'�����(α)�(.�������9�����
R(jω) = X(−jω)Y (jω)������> ��8r(t)P���'��
R(jω) = X(−jω)Y (jω)

=
2

1 + ω2

2

1 + ω2

=
4

(1 + ω2)2�������)���+�/&'����������:���������(.����(β)

��]?'F(x(t)) = X(jω)1���+F���������������8 !"#$%#)��xm(t) = x(t)cos(ω1t)sin(ω2t+

θ)1;α0L(������'F(xm(t))=;β0?'f ′′(t) + 2f ′(t) + 2f(t) = −(δ(t + π) + δ(t− π))1L(������'f(t)23456
;α0?'P�&(,��+�����+'*(����w(t) = x(t) cos(ω0t + θ)1�����> ��8�+'*(����8�+�,8�9�/&'�����'�-��������8-����(/&��8P���'��

W (jω) =
1

2

(
ejθX(j(ω − ω0)) + e−jθX(j(ω + ω0))

)

@���:'&81�(�E�+�����+'*(����y(t) = x(t) cos(ω1t)
�����xm(t) = y(t)cos(ω2t + θ− π

2 )=A> ��8y(t)
P���'��

Y (jω) =
1

2

(
X(j(ω − ω1)) + X(j(ω + ω1))

)

)���> ��8xm(t)
P���'��

Xm(jω) =
1

2

(
ej(θ−π

2
)Y (j(ω − ω2)) + e−j(θ−π

2
)Y (j(ω + ω2))

)

7(��������.'��8��8-9���(��*'&��:���8:��+�����
Xm(jω) =

−j

2

(
ejθY (j(ω − ω2)) + e−jθY (j(ω + ω2))

)

=
−j

2

[

ejθ
(1

2
X(j(ω − ω1 − ω2)) +

1

2
X(j(ω + ω1 − ω2))

)

− e−jθ
(1

2
X(j(ω − ω1 + ω2)) +

1

2
X(j(ω + ω1 + ω2))

)
]

=
−j

4

[

ejθX(j(ω − ω1 − ω2)) + ejθX(j(ω + ω1 − ω2))

− e−jθX(j(ω − ω1 + ω2))− e−jθX(j(ω + ω1 + ω2))

]

^



;β0@/�(��E�'��8> )�����-9��:��:��+��
(jω)2F (jω) + 2jF (jω) + 2F (jω) = F{−δ(t + π)− δ(t− π)}. ;<=

R
0_:��'��8x(t) = −δ(t + π)− δ(t− π)1�������(�9��'��(*I�+�����

F (jω) =
F{x(t)}

−ω2 + 2jω + 2
. ;<=U0J�(���(�9��������(�'�����,8���(��'��(�/��&8��'���'���(���'�&'�/�9���9�����−ω2 +2jω +2 = (jω +1− j)(jω +1+ j)=?')*'�+���'*�+�������*)�*�����1����P��*(�+�����

1

−ω2 + 2jω + 2
=

1
2j

jω + 1− j
−

1
2j

jω + 1 + j

=
1

2j

(
1

j(ω − 1) + 1
− 1

j(ω + 1) + 1

)

)���/�9���9�����
e−tu(t) F←→

1

1 + jω�(�)9�������
ejte−tu(t) F←→

1

1 + j(ω − 1)

e−jte−tu(t) F←→
1

1 + j(ω + 1)@���:'&8P�:��+��
F−1{ 1

−ω2 + 2jω + 2
} =

1

2j

(
ejte−tu(t)− e−jte−tu(t)

)

= sin(t)e−tu(t)_:��'��8�����'y(t) = sin(t)e−tu(t))���(��������.'��8��'�-�������8�+':��G�81���(X'�+��
F (jω) = F{x(t)}F{y(t)} ⇒

f(t) = x(t) ∗ y(t))�����-,x(t) = −δ(t+π)− δ(t−π)1P�:��+���������������:'�:)-�����8y(t)1-���-,
f(t) = sin(t)e−t−πu(t + π) + sin(t)e−t+πu(t− π)

��̀a��&x(t)�(��&'�)�8�����8��+�(�E����&8�G,8
x(t) =

{
1− | t | | t |< 1

0����9
α0J��('�'��8��'��(*�&����8x(t))��)*'�'��8�(,����8�-������8��8��(��.��+1+��X���������'> =;���-��G�T�)/(*�����'��(*�&����8x(t)&8*P(�����-9�����.'0
β0������������'> �(��������.'��8��'-�9��(���(*�&����8x(t)b



γ0������������'> �(��������.'��8��'�-�������8�+':��G�8;���-��G�TP�&(���������
x(t)
:����(�:�P��������+':��G�-9����*�&'023456

α0D�(�/�),��(*�������8�+'*(����8x(t)/��'������������'���,��

t

1

1−1

x(t)

J��('&'��8��'��(*�&����8��(��*'&�+'*(����8)����(���*'�'�*8��'1:��+����'�G,8�(�/�),��(*�����
1

−1

−1
1 t

y(t)=x’(t)

�����'�������'���(�/�':8������(�9��'����(*I�+����'*P(�����-9�����.'=c8�'&���'1�> ��+��'�-����+�����9���9(�8T;���−T/2�&8T/20-�'���������'�9��Tsinc(ωT/2)=C��'��(���&�������'��+T = 11!> ��'���sinc(ω/2) = sin(ω/2)
ω/2
=@G��*E�'��8�����'G��&(���*)*P��������8��(��.��+1���(�9��'���9������������9'����������:'�8�)-����8��+��'�-����+�����9;���'-�G�����*E��)�����(�����0=a��������'1)*'�'��8�(,����8�-������8��8����������8����(�'�1���(�9��'�+��������+����'> ��+�)*����������9=@'-��)��)*1-�'�+���������'���,�������9/��'�'������'���������8�������������.'X����.'=

t

1

−1

←→ ej ω
2

sin( ω
2
)

ω
2

<K



t1

−1

←→ −e−j ω
2

sin( ω
2
)

ω
2

[(��> ��8y(t)
���&�(���)�����81P����9�������*P(������&'�������������.'�&'-9�����.'1�����

Y (jω) =
sin(ω

2 )
ω
2

(
ej ω

2 − e−j ω
2

)
=

4j

ω
sin2(

ω

2
))��)*'�'��8�(,����8�-������8��8��(��.����81:��+�����

X(jω) =
1

jω
Y (jω) =

4

ω2
sin2(

ω

2
) = sinc2(

ω

2
)

β0?'�*(�+����-�9��(���(*�&��������+'*(������+�(�)9������'��
y(t) = x′′(t) = δ(t + 1) + δ(t− 1)− 2δ(t)J(�/�'.81���(�9���9)���'�+��������+����'> ��8-�9��(�8��(��.��+1������8P�-�'�����������:��

Y (jω) = ejω + e−jω − 2 = 2 cos ω − 2 = −4 sin2(
ω

2
))�����:'&8�X(jω)

P���'��
X(jω) =

1

(jω)2
Y (jω) =

4

ω2
sin2(

ω

2
) = sinc2(

ω

2
)

γ0a'�8�(���8�(���8���'�+��������+����'> ��8�+'*(����8��+��8-�'����1��'��'���P�&(,��+��&8������:�������8�+':��G�8-9����*�&'=C+�)�)(��:'�1��+'*(����x(t)���(��'��(�)9I��������+':��G�-9���'�-���&'����.'1-���-,x(t) = x1(t) ∗ x1(t)1���'
x1(t) =

{
1 | t |< 1/2
0����9��X1(jω) = sinc(ω

2 )=?����'�-��������8�+':��G�8��&81:��+�����
X(jω) = X1(jω)X1(jω) = sinc2(

ω

2
)

��dD����-�8��:'�M7?�9�������'��x(t) = 10 + 2δ(t − 2) + sin(2000πt)
πt
)������)(����+�'�����8��+�+��,����8��'��

H(jω) =

{
10 | ω |< 1000π
0 | ω |> 1000π;α0������������> X(jω);β07(��������.'��8������:�������+;�01�)/(*�����> Y (jω)��8�G�-�+��+M7?�+X��,����8�����)(���H(jω)1���'���'����-��/�(����+�����,��x(t)<<



;γ07(���������������'�'����(�/��������������� !"#$%#���'�L(������'y(t)23456
;α0@/�(��E�'��8�������������� !"#$%#���x(t)���('�+�����

X(jω) = 20πδ(ω) + 2e−2jω + u(ω + 2000π)− u(ω − 2000π)���+��+'*(����u(ω +2000π)−u(ω− 2000π)��������:'��-�'�)���������(���/���(��/�9
u(ω + 2000π)− u(ω − 2000π) =

{
1 | ω |< 2000π
0 | ω |> 2000π;β0Q*'�'��8�(,����8�(����)�����8+������E�+����'> )*P��(�+��8�G�-�+��+/���(�+���+�'��������)��,8ωc = 1000π1���'���'����-����:�P���x(t)1�����

Y1(jω) = 20πδ(ω)H(jω) = 20πδ(ω)H(j0) = 200πδ(ω)

Y2(jω) = 2e−2jωH(jω) = 2e−2jω[10u(ω + 1000π)− 10u(ω − 1000π)]

Y3(jω) = [u(ω + 2000π)− u(ω − 2000π)]H(jω)

= [u(ω + 2000π)− u(ω − 2000π)][10u(ω + 1000π)− 10u(ω − 1000π)]

= 10[u(ω + 1000π)− u(ω − 1000π)]J(��P:�!'��8��8����:(�+8�G�-�+81���('�+����> ��8�G�-�+
Y (jω) = 200πδ(ω) + (20e−2jω + 10)[u(ω + 1000π)− u(ω − 1000π)]

;γ07(��������.'��8��'�'����(�/�> +������E�+����':G�-�y(t)1��+��'��
y(t) = 100 + 20

sin(1000π(t− 2))

π(t− 2)
+ 10

sin(1000πt)

πt��ea'��+'���98�(�'�+M7?�9�����:���)(�+���),���)(���
h(t) = δ(t− 3)− e−7(t−3)u(t− 3)

α0������������'���)(����+�'�����8��+�+��,����8=
β0C��-�*������:�(�)����/*����8���)(���8�+�'�����8;7(��������,�������(�L*���'>fghfi0
γ0������������':G�-���+�+��,����81�'�/�(����+�����'����-����,��

x(t) = 7 + 7cos(7t + π2) ;<=
Z
023456

α0M��'�+��������+���9)�����'> ��8)(�+���),8���)(���81�(���������+����E:+��8
e−αtu(t)←→ 1

α + jω������> ��8h(t)
P���'��

H(jω) = e−3jω[1− 1

7 + jω
] = e−3jω

(6 + jω

7 + jω

)

<F



β07(��������.'��8����(�L*���'>fghfi1+������E�+����'���)(����+�'�����8��+�+X��,����8;�:�(�)��/*��0���(����),)����)�=
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γ0?/�9���9�������'���(����)�1+������E�+����':G�-��G��*E�'��8)*P��(���8����-�+�&(���*1-�+��9�'��8)�������+8-9�;���P�(*)���+'�����'�0�����-����8�+�'�����8=?'���'����-�:��+��������P�(,�+'*(����1������'�)*1���'�+��������+����':G�-�1����������*E�+����'���)(�����+�+��,����8���'jk�+�'�����;ω = 00����'����-�;l�����P�(*�+'*(������(�:�����'���'jk�+�'�����0=C��'�+�)�)(��:'���(���&��-���-,1�:G�-�8P���'��7 ·H(j0) = 7 · 6/7 = 6=M����'�����'���-,����-�1��(���(�9��������,������-�+:����+�'�����ω = 7[rad/sec]1��������(�9��'���9�����1�/�9���9�������'��M7?1����)���:G�-�8P���'�����X��'���-:8�,��������*��8��8�'���+�:'�)��*|H(j7)|1���-���-,��'�����:�(���8���)(����+�'�����8����+�)�)(��:'��+�'�����=@����81�/*����8�G�-�+P�)�P+X���(,�������1�����'���)�P+��:(�����+���*�����M7?�9��������+�,���+�'�����1-���-,�/*�����π/2
P���'��π/2 + ∠H(j7) = π/2 − 0.66π = −0.16π=@���:'&81�'������'��������'���-:8�,��7 cos(7t + π/2)���'����-���+�+�)�)(��:'�+�+��,����81�:G�-�8P�,��'7|H(j7)| cos(7t + π/2 + ∠H(j7)) = 6.52 cos(7t− 0.16π)@/�(��E�'��8�.(���'�(�,��8+�:(P���81)����,��+�����1�'���M7?�9������/�(X����+�����,��

x(t) = 7 + 7cos(7t + π2)�����:G�-�8��+P���'���
y(t) = 6 + 6.52 cos(7t− 0.16π)<H



��mn)(�+���),���)(����'�8M7?�+��,����8-�'�����������:��
h(t) = δ(t) + 5e−5tu(t)

α0������������'���)(����+�'�����8��+�+��,����8)�����-�*��������(��&'���+�:�(�+)����/*��&8�+'*(������+ω=
β0J����+�'�����o�'���9��o��(������(����9�����pC������+�'�����1�����(*�&'���+�:�(�+��8���)(���8���('����������8�:�����8���,8p;D�+�'������+�,�'�/:(����)��&83dB�+�'�����1-������dB)����)�110log | H(jω) |21����)(����)����'��H=K<dB��)(���(������'�:��������,=0
γ0J��*��'���:G�-�8�'�����-�8��'���

x(t) = 1 + 2cos(100t) ;<=\023456
α0@/�(��E&'��8> ���')(�+���),���)(���+������E�+����'���)(����+�'�����81������P���'��

H(jω) = F{δ(t)}+ 5F{e−5tu(t)} = 1 +
5

5 + jω
=

10 + jω

5 + jω7(��������.'��8����(�L*���'>fghfi���-�*E�+����'���)(����+�'�����8;�:�(�)��/*��0���(����),)����)���&8/��'���������(�)*�&��,����
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<R



β0Y�&8/��'����)���������,��1���9������'���9����(������(���'jk�+�'�����ω = 01�����'����������(*�&'���+�:�(�+��'���������|H(j0)|2 = 4=M��'�L(�9����'3dB�+�'������9'�+����'�G��&��
|H(jω)|2 =

|H(j0)|2
2

= 2�����:��+��
100 + ω2 = 50 + 2ω2 ⇒ ω =

√
50 ' 7.07rad/sec����������(��'����L�L��&P��)������'�(�/�),��(*�������+���(��.'�+��+�:�(�+��8���)(���8�+�'�����8=

γ0?'�����&��E�'��8)*P��(���8����-�+�&(���*1+������E�+����&8)���(�'��'�)*�����:G�-�1������'�����-�8��'���x(t) = 11�����:G�-�8P���'��y(t) = 1 · |H(j0)| = 2=?':�&&8����-���'�+'*(����x(t) = 2 cos(100t)�������'�+�������&��':G�-��(:���'�G:(&���:�(�)����/*����8���)(���8������+�'�������+�,����8����-�+ω =
100rad/sec=?����'�9����8���)(���8:�&���

H(j100) =
10 + j100

5 + j100
= 1, 004e−j0.05

������:G�-�8P���'��
y(t) = 2 · 1, 004 cos(100t− 0.05).@/�(��E�'��8��'�(�,��8+�:(P���81�+'-+*E�+����8����:(�+8�G�-�+8)�����('�+����'���P+���,:G�-�
y(t) = 2 + 2, 008 cos(100t− 0.05)���qa'�M7?�9�������(��(*/���������'��(�)*�&-��/�(�),�G��&��

d2y(t)

dt2
+ 6

dy(t)

dt
+ 8y(t) = 2x(t).������������')(�+���),���)(�����+�+��,����8=23456@/�(��E�+��)�����-9��:��> )��:��+��

(jω)2Y (jω) + 6jωY (jω) + 8Y (jω) = 2X(jω)��������������Y (jω)/X(jω)���('�+��
H(jω) =

Y (jω)

X(jω)

=
2

(jω)2 + 6jω + 8

=
2

(2 + jω)(4 + jω)

=
c1

(2 + jω)
+

c2

(4 + jω)���+
c1 = (2 + jω)H(jω)

∣
∣
jω=−2

=
2

4− 2
= 1<U



)��
c2 = (4 + jω)H(jω)

∣
∣
jω=−4

=
2

2− 4
= −1C+'��.81����)(����+�'�����8P�-�'�����������:��

H(jω) =
1

(2 + jω)
− 1

(4 + jω))���(��������.'��8��'�'����(�/��������������� !"#$%#���('�+����')(�+���),���)(���
h(t) = F−1{H(jω)}

= F−1{ 2

2 + jω
} − F−1{ 1

4 + jω
}

= e−2tu(t)− e−4tu(t)

= (e−2t − e−4t)u(t)����V@��&-9�M7?�+��,����r<)��rF1�&'����&'������+(����)/(*E�����:�������8-��/�(�):8�G��.���8
S1 :

dy(t)

dt
+ y(t) = x(t)

S2 :
dy(t)

dt
+ 2y(t) =

dx(t)

dt
+ x(t)

x(t) y(t) 

_�&(.'��8���9��������'*-(�����+��,����81+�����������'���)(����+�'�����8��+�+X'���)�9�+��,����8)�����-�*���������L�,P�����8>fghfi=?'���'����-�:��+����'L�����),�+'*(����1+�����������':G�-���+�+��,����8;L�����),���)(���0=C��-�*������r$s"t$uv���9�����)�����L�L��.���������'�81����'���'��)�����,��+�������+'���)��9�������+�(�)9����1�:G�-�8��(��:'����-��=23456Q���(�*81+������E�+����8���)(����8�&'-9��+����*�&'=M����M7?�9�����S1
���('&X'��8> :��+��

(jω)Y1(jω) + Y1(jω) = X1(jω)�����
H1(jω) =

Y1(jω)

X1(jω)
=

1

1 + jω<Z



�'.�����M7?�9�����S2
P�:��+��

(jω)Y2(jω) + 2Y2(jω) = (jω)X2(jω) + X2(jω)-���-,
H2(jω) =

Y2(jω)

X2(jω)
=

1 + jω

2 + jω
.M��'�+��������+�������)(����+�'�����8��+�+'���)�9�+��,����8;wt!x%yXt!!z01�'��*E�+����':G�-���+�P(����,w(t)1��&8/��'���������,��

x(t) y(t) w(t) 

{���-�+��9�'��8�����-����8�+�'�����81:��+������:G�-�8��+�+��,����8P���'��Y (jω) =
H1(jω)W (jω)
���+W (jω) = X(jω) − H2(jω)Y (jω)=C+'-+*E�'��8��8-9��+�:8��:���8)���9'�'��8.8�(�8Y (jω)/X(jω)���('�+�����

H(jω) =
Y (jω)

X(jω)
=

H1(jω)

1 + H1(jω)H2(jω)
.D��(��*'&��:�����9����'�)���(����:'�)������9L(����+�9�������8��(/,8�+�,81�������)���+'�'�*����+�'*���'�(���(�����)�:�����=?'��)�P���.'��8��8���)(����8�&'+���+����*�&'1L(��)�+��������+'���)��9�����:������)(����+�'�����8

H(jω) =
H1(jω)

1 + H1(jω)H2(jω)

=

1
1+jω

1 + 1
1+jω

1+jω
2+jω

=
2 + jω

(3 + jω)(1 + jω)l���L�,P�����8>fghfi��(���*'�+����'���)(����+�'�����8;�:�(�)��/*��0=?'+��X������+���'��+��)*���:�(�)����/*����8H(jω)�������('�+�����
|H(jω)| =

√
4 + ω2

√
ω2 + 9

√
ω2 + 1

∠H(jω) = arctan(
ω

2
) + arctan(

−ω

3
) + arctan(−ω)C�������'���,��/��'�'������(�/�):8��(���*���8�:�(�+)��/*��8������(�P��),)����)�=<\
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M��'�+��������+����'L�����),���)(�����+�+��,����81�(���������9����'�-��������8�+':��G�81�����:��+��
Y (jω) = H(jω)X(jω) =

2 + jω

(3 + jω)(1 + jω)

( 1

jω
+ πδ(ω)

)

���+���*����'*�+�������*)�*��������(�9��'��(*I�+����'Y (jω)

Y (jω) =
−1

6

3 + jω
+
−1

2

1 + jω
+

2
3

jω
+

2

3
πδ(ω).7(��������.'��8�'����(�/�> ����/�(�����������-����+�(�'�+�����

y(t) = [
2

3
− 1

6
e−3t − 1

2
e−t]u(t)C�������'���,����(���*'�����L�����),���)(�����+�+��,����8

t

2/3

y(t)

M��'����-�*��+�����r$s"t$uv��'�:���+'���+8�(�'�+�(���������9��|t!wvx�����'�(.��L�L���P,)������'���simulink=?'P:��+��'�-����+(�,��+��:'��9����������)(����+�'�����8
H(jω) =

b0 + b1(jω) + . . . + bn(jω)n

α0 + α1(jω) + . . . + αm(jω)m�����(���������9����|t!wvTransferFcn�����')��*����Continuous��������)���(�E�+����+8�+'������:8�&'���+&'9�&'��+�(�P���,)����(�'�����,1����'L�P����+��(�'�����,<̂



'���'���*'�������9��(�8,���8��+L�P��9��+�(�P���,={�r$s"t$uv��/�'�E����|t!wv�(��������.'��8����������������h}zt}w%��������'����('�+������������������ !"#$%#1P:��+��s = jω=C��'����-���+�+��,����8�(���������9����L�����),�+'*(����-���-,��|t!wvStepFunction��step time = 1;���'��(��&��8��(��:�(�+8)*P�|t!wv1)*'&-����)��)�*'&��+80)���(��������.'��8scopes���('�+����8�(�/�):8��(���*���8=A(�E�'��8)�����(�'������s%u"Simulation − Simulation parameters�:�����'�����P��(������.'��������'�:��1���('�+�����(�/�),��(*�������8�G�-�+={���'�:����+)����)�+*E�+��)�P.8)���:G�-�8��+�+��,����81/��'�'�����������'���,��?'�'��)�����,��+�����9�����

���'*-(����������-9'����&(�8�'*-(���)9)�&��)��+��������+����':G�-�1������&8L�:��+��)����������'���,��1�:G�-�8��(��:'����-��1��&8*��&����'���'���'=

<b



���N{���(�)*�&)9)�&������-��-�~%u%#��������:'�'�-�'�)�I���-���,=

v in(t) v(t) 

C��-�*�����':G�-���+)+)�.����8)��+�����������'> ��8�G�-�+���'��*������-�+-�'�����������:��
vin(t) = (t + 2)u(t + 2)− 2tu(t) + (t− 2)u(t− 2) V olts)����������':G�-���'��

v(t) =

{
vin(t) , vin(t) < 1

1 , vin(t) ≥ 1a��&����I���-���:'�:G�-�8��('*���:�����:'�M7?��+�����+����)(����+�'�����8��'��H(jω) = jω=C��-�*�����':G�-���+1y(t)1�&(�8'���'+�����������'��+��)*=
H(jω) 

v(t) y(t)

23456
;α0J(�'+��������+����'�������������� !"#$%#��8�G�-�+1��(���*'�+���(�/�)*��'��X��-�)����':G�-���������'���,����FK



t

v in(t)

2−2

2

t

v(t)

2−2

1

−1 1M��'�+��������+����> ��+�,����8�G�-�+1�/�(��E�+����'�(����1�����
V (jω) =

∫ ∞

−∞
v(t)e−jωtdt

=

∫ 1

−2
(t + 2)e−jωtdt +

∫ 1

−1
e−jωtdt−

∫ 2

1
(t− 2)e−jωtdt

=
−1

jω
[(t + 2)e−jωt]1−2 +

1

jω

∫ −1

−2
e−jωtdt− 1

jω
[e−jωt]1−1

+
1

jω
[(t− 2)e−jωt]21 −

1

jω

∫ 2

1
e−jωtdt

=
−1

jω
ejω − 1

(jω)2
[ejω − e2jω] +

1

jω
[ejω − e−jω] +

1

jω
e−jω +

1

(jω)2
[e−2jω − e−jω]

=
1

(jω)2
[e2jω + e−2jω]− 1

(jω)2
[ejω + e−jω]

=
2

ω2
[cos(ω)− cos(2ω)]

;β0D���)(����+�'�����8��+�+��,����81��8/�'�(.'������(�)��������:'��9�����-��X/�(���,1���+�:G�-�8��'�����(*�&��8��8����-�+1������'���'����-�:��+����'
v(t)1���':G�-�P�:��+�����,����+��(�)*�&��,����8

t

y(t)

2
−2

1

−1
1

−1

���Sl����(��-�),�+'*(����)(�+���).'����.';z%#$!y$w$sz"tx%�#}$u0�(�E���������'�9��
x(t) =

∞∑

n=−∞

δ(t− nT0)

;α0C��-�*������,�����−3T0 ≤ t ≤ 3T0;β0J�����'���L���),�+�'�����1ω01�'T0 = 10=7(���������������'����T0 = 10�����+�������+���(&�,����F<



;γ0������������+8�+'������:8��8���(*8 !"#$%#ck1���'�'���(*�����
x(t) =

∞∑

k=−∞

cke
jkω0t

;δ0C��-�*�����/*�����+�,����8���−4ω0 ≤ ω ≤ 4ω0;ε0?'��+'*(����x(t)��'�������-�8�'�8�+��,����8�����)(����+�'�����8
H(jω) =

{
e−4jω | ω |< ωco

0 | ω |> ωco��ωco = π/T01������'���:G�-�8��+�+��,����8p;στ0?'ωco = 3π/T01�����:G�-�8���'��(���&���+�,p23456
;α0M����-�*�����−3T0 ≤ t ≤ 3T0

���,���'���(���������������'���,��

t
2T0−2T0 −T0 T0−3T0 3T00

… …

x(t)

;β0@/���'T0 = 101�����L���),�+�'�����P���'��
ω0 =

2π

T0
=

π

5

;γ0M��'�+��������+����+8�+'������:8��8�)P���),8���(*8 !"#$%#1���)��(.'�+���������(��-�1�����
ck =

1

T0

∫ T0

2

−
T0

2

x(t)e−jkω0tdt

=
1

10

∫ 5

−5
δ(t)e−jk(π/5)tdt

=
1

10

∫ 5

−5
δ(t)dt

=
1

10C+'��.81��+'*(����x(t)���(��'��(�/��
x(t) =

∞∑

k=−∞

1

10
e

jkπ

5
t
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;δ0M��'���(���,��+����/*�����8�+'*(����8�()��'�+��������+����> =?/�9δ(t)↔ 1����P����9�����δ(t− nT0)↔ e−jnωT01��������&�(����)�����8:��+�����
∞∑

n=−∞

δ(t− nT0)
F↔

∞∑

n=−∞

e−jnωT0

↔
∞∑

n=−∞

ejnωT0

↔ T0

∞∑

n=−∞

1

T0
ejnωT0

?'P�&(,��+������+'*(�����+�,1&8����L���,�(�'�+��ω)��&8L���),�+�'�������
T0
�����(��������.'��8��':)/(�����8�+'*(����8���)P���),���(* !"#$%#1���('�+��

T0

∞∑

n=−∞

1

T0
ejnωT0 = ω0

∞∑

n=−∞

δ(ω − nω0)[(���/*�����8�+'*(����8P�:�����'�-����(/,����'��(*�������8�+'*(����8����(�'�1������'��'��(���,��+�����−4ω0 ≤ ω ≤ 4ω0
:��+��

π/5

ω
0

… …

2π/5 3π/5 4π/5−π/5−2π/5−3π/5−4π/5

X(ω)/ω0

;ε0A+������)*���9�����)�P+���(����'����-�)��*
R��'*-�8�(�'�+1-�.�'�'��8L:L�����8�+�'�����8��+��'�������9��(�8���ωco = π/10=C+'��.81���+�'���)���(������'���+o��('*��o������9�������'���+����8jk�+�'�����8;ω = 00,�k = 0
�(�8��8���(*81������:G�-�8P���'��

y(t) = H(j0)
1

10
e−j(0)(π/5)t = 0.1

;στ0C��'��(���&����+ωco = 3π/T01���(����+o��('*'�o�����/���(���'����k = −1, 0, 1,-���-,���+�'�����8−π/5, 0, π/5)���:G�-�8��'��
y(t) = H(j0)

1

10
ej(0)(π/5)t + H(jπ/5)

1

10
ej(1)(π/5)t + H(−jπ/5)

1

10
ej(−1)(π/5)t

= 0.1 + 0.1e−4jπ/5ej(π/5)t + 0.1e4jπ/5e−j(π/5)t

= 0.1

(

1 + 2 cos
(π

5
t− 4π

5

)
)

= 0.1

(

1 + 2 cos
(π

5
(t− 4)

)
)
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��8�'��������8���(*8 !"#$%#=@)/(*������,��&8���(* !"#$%#=7(��������.'��8

t

x(t)

A

A/2

T/2−T/2 T−T

……

����(�L*���'>fghfi1���-�*������,����+�(�)9�������5, 15, 250�(��'�):8;�+'������:80)�����A = T = 1=23456J(�/�'.81�L���),��(��-�8��+�,����8��'��T)���L���),�+�'�����ω0 = 2π/T=M��'�+��������+����+8�+'������:8��8���(*8 !"#$%#�(���������9����'�9����8�)P���),8���(*8
x(t) =

∞∑

k=−∞

cke
jkω0t

���+
ck =

1

T

∫ T/2

−T/2
x(t)e−jk 2π

T
tdt

M��k = 0
:��+�����

c0 =
1

T

∫ T/2

−T/2
x(t)dt

=
1

T

∫ T/2

−T/2

A

T
t +

A

2
dt

=
A

2T 2

[
t2

]T/2

−T/2
+

A

2T

[
t
]T/2

−T/2

=
A
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�'.���k 6= 0

ck =
1

T

∫ T/2

−T/2
x(t)e−jk 2π

T
tdt

=
1

T

∫ T/2

−T/2

(A

T
t +

A

2

)
e−jk 2π

T
tdt

=
A

T 2

−T

2jkπ

[
(
t +

T

2

)
e−jk 2π

T
t

]T/2

−T/2

− A

T 2

−T

2jkπ

∫ T/2

−T/2
e−jk 2π

T
tdt

︸ ︷︷ ︸

=0

=
A

T 2

−T

2jkπ

(
Te−jkπ

)

= j
A(−1)k

2kπJ�(���(�9��������+'������:8��'������.8/�'�����)���(�P���)���������E�+'�����(���,�)���+P��1�(*�����+�+'*-������'�(������),��8�+'*(�����/�9)���+�,��'����(���,;��'������/�':8�'�/��(:��+����'���P�(*A/20=@���:'&81��+'*(����x(t)���(��'��(�/��
x(t) =

∞∑

k=−∞

cke
jk 2π

T
t =

A

2
−

∞∑

k=−∞,k 6=0

j
A(−1)k

kπ
ejk 2π

T
t
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���]�(������8���(:8 !"#$%#�&'��(�)*�&��(��-�).'�+'�(�,��&'����(��-�T = 2π

;α0f(t) =

{
0 t ∈ (−π, 0)
1 t ∈ [0, π]

;β0f(t) =

{
0 t ∈ (−π, 0)
t t ∈ [0, π]

;γ0f(t) =

{
−t t ∈ (−π, 0)

t t ∈ (0, π]
f(0) = 0

;δ0f(t) =

{
−1

2 − t
2π t ∈ (−π, 0)

1
2 − t

2π t ∈ [0, π]C��-�*������>fghfi���,������+�(�)9���+'�(��������.'��825�+'������:8=23456
;α0D�+'*(������+P:��+��'��(��������+��/��'������������'���,��

f(t) 

t 
−π π 

D�+'*(����f��'���������)*�+'��,8���[−π, π]=a���T
α0 =

1

2π

∫ π

−π
f(t)dt =

1

2π

∫ π

0
1dt =

1

2

αn =
1

π

∫ π

−π
f(t) cos(nt)dt =

=
1

π

∫ π

0
cos(nt)dt

=
1

nπ
sin(nt)

∣
∣π

0

= 0

bn =
1

π

∫ π

−π
f(t) sin(nt)dt =

=
1

π

∫ π

0
sin(nt)dt

= − 1

nπ
cos(nt)

∣
∣π

0

=
1− (−1)n

nπ
, n = 1, 2, 3, . . .F\



@���:'&81��+'*(����f(t)���(��'��(������������������(*
f(t) ∼ 1

2
+

2

π

(
sin(t) +

1

3
sin(3t) + . . . +

1

2n− 1
sin((2n− 1)t) + . . .

)
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;β0D�+'*(����f��'���������)*�+'��,8���[−π, π])����(���*'������������'���,��=

t 

f(t)

π −π 2π −2π 

… … 

@���:'&81+������E�'��8��+�+'������:8��8���(*8 !"#$%#:��+��
α0 =

1

2π

∫ π

−π
f(t)dt =

1

2π

∫ π

0
tdt =

π

4

αn =
1

π

∫ π

−π
f(t) cos(nt)dt =

=
1

π

∫ π

0
t cos(nt)dt

=
1

π

(
t sin(nt)

n

∣
∣
∣
∣

π

0

−
∫ π

0

sin(nt)

n
dt

)

=
1

π

cos(nt)

n2

∣
∣
∣
∣

π

0

=
(−1)n − 1

n2π
n = 1, 2, 3, . . .F̂



bn =
1

π

∫ π

0
t sin(nt)dt =

=
1

π

(

− t cos(nt)

n

∣
∣π

0
+

∫ π

0

cos(nt)

n
dt

)

= − 1

π

[
(−1)n−1π

n
+

sin(nt)

n2

∣
∣
∣
∣

π

0

]

=
(−1)n−1

n
, n = 1, 2, 3, . . .V?(�1��+'*(����f(t)�(������E����&8�G,8

f(t) ∼ π

4
− 2

π

∞∑

n=1

cos((2n− 1)t)

(2n− 1)2
+

∞∑

n=1

(−1)n−1 sin(nt)

n
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;γ0D�+'*(������+P:��+��'��(��������+����'���������)*�+'��,8���[−π, 0)
⋃

(0, π])��*(���)��/��'������������'���,��
f(t) 

t 
−π π 2π −2π 

?/�9��'��*(��������'�����bn = 01�'.�����αn
:��+��

α0 =
1

2π

∫ π

−π
f(t)dt =

1

π

∫ π

0
tdt =

π

2Fb



αn =
1

π

∫ π

−π
f(t) cos(nt)dt =

=
2

π

∫ π

0
t cos(nt)dt

=
2

π

(
t sin(nt)

n

∣
∣
∣
∣

π

0

−
∫ π

0

sin(nt)

n
dt

)

=
2

π

cos(nt)

n2

∣
∣
∣
∣

π

0

= 2
(−1)n − 1

n2π
n = 1, 2, 3, . . .
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f(t) ∼ π

2
− 4

π

∞∑

n=1

cos((2n− 1)t)

(2n− 1)2
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t 

f(t )

π −π 2π −2π 

… …
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bn =
1

π

∫ π

−π

(1

2
− x

2π

)
sin(nt)dt =

=
2

π

∫ π

0

(1

2
− x

2pi

)
sin(nt)dt =

= − 1

π

cos(nt)

n

∣
∣
∣
∣

π

0

− 1

π2

∫ π

0
tsin(nt)dt

= − 1

nπ
[(−1)n − 1] +

(−1)n

nπ
=

1

nπV?(�
f(t) ∼ 1

π

∞∑

n=1

sin(nt)
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